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Divide the expressions. Simplify your answer.

B5a’b? .« 15b° When divide 2 fractions, flip the 2nd
2ab® * 8a’ fraction, and change to multiplying

5a%b* | 8a°

2ab® 15b¢

40a’b* Multiply straight across (add exponents)
30ab™

Reduce the 40/30 and cancel/reduce exponents
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Divide the expressions. Simplify your answer.

x'-3x*-4 - x3-3x’+x-3

2x’+x-10 * x-2
x'-3x>-4 . x-2 Flip the fraction, and multiply
2x?+x-10 x3-3x?+x-3

(x-2)(x+ 2)‘(}’/1/) __)(4/ Factor anything you can
(2x+ 5)M (x/’vrf(x -3) Cancel anything the same

Put everything together

To factor x* - 3x? - 4, you have to use AC
method and perfect square
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Divide the expressions. Simplify your answer.

x*-4  + x*+3x-10 - _x*+x-12
e Nt
X2 -6x+9 ° | ¢ x2+11x+30

x’-4 1 ., X' +1lx+30 Flip and multiply

.
x2-6x+9  x’+3x-10 X2+ x-12

LeZNx +2) 1 , (x+6)(x+BT Factor everything
(x-3)(x-3) My»?f (x+4)(x-3) Cancel if you can

x+2)(x+6 Put it together
(x +4)(x - 3)° Since there are 3 of the (x - 3), use an

exponent




